el bt
gyl pd | LSualiuld I g 931 gL (o AB Nl

du=d'q—d'w.
d'q=Tds :
du=Tds —d'w (1)
pdv
du = Tds — pdv (2)
p,T
dS V;p VzT
h u S
.p,h  vs

SEIEE)
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v T
du du
du=|— | dT+|—| d
' (a jv (ava
ds = % (du + pdv). 3)
ds=l(a—uj dT+l +(a—uj dv
T\JT ), T ov ).
ds = (éj dT + (ﬁ) dv 4)
oT ), ov J;
dv dT

ds) _1(du

(a?l‘?(ml P
9s) _1[ _(du

55l “
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2(%)][2(%)] 0 2
ovlaT), | | oT\av ), | ovoT oTov
) (6

. \'%
1 9’ 1| d%u (ap) 1 (auj
— =— +l = |-=|l=— | +p
TovoT T|dTov \oT),| T*|\ov)/;

(5e) (3R, "

() -2, ®)
(BU/aV)T

()

_pf9p) [ov
& T(aTMaTl ¢
322+
oT), k’\oT),
T
cp—cvzﬁkV (10)
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k B C, - C,

vT ¢ kB
§ k v T
p’ (4°C )
ka B Cy Cp
()
. 300°K
~ (4.9%107)*%x300%(7.15x107)
Cp—Cy = —
7.7x10
=667 |/
c,—c,=R=8315 /
() (0s/dv)  (9s/9T),
¢, = (du/dT) () () ()
v T S
2
(éj % Py (11)
orT), T T «x
ERC R
ov); \dT), «x
: ()
ds =C—VdT+EdV (13)
T K
Tds=chT+B—T dv . (14)
K
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BT
dq v, T

(acvj _[9°p
ov ); \9T? ),

Cy

()

(=Tds)
(12) (11)
(15)
°p | _
oT? ),
Cy
V.pp
(16)
(17)



9 :&,(ﬁj _ % (18)
op BT \ov), BvT

C | _ 97
&) o
()

Tds = cdT+ PL gy )

K
Tds = c,dT — BvTdp, > (20)
KC c
Tds = —2dp + >dv
p §
J
Tds
Tds
ds T
Tds
ds T
Cp Cy
k=1/p,p=1T
ds = cvd—T + Rd—v (21)
T %
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Po

ds =c¢,— -R—
d d
ds =Cp V+Cv_p
vV \%
T,
- Sy
T
S:SO+I CVd—T‘i‘}{hll D
1T v,
T
T
S:SO+I de—+Rln£ ’
15 P
s d $ d
s=%+ICrX+ o =2
R p
T T,
0 VO
S:SO+Cpln1_Rln£ s
T P
S:So+Cplnl+Cvln£
v, P,
T b
p
X N a
dPuTL__-—-““/..:
I
3

Vo

Cp CV

(22)

(23)

(24)

(25)

(26)

2)
2)

(29)



S_SO

aeb adb acb
()
ac
eb
ad ()
db
ae ()
(dg/T) eb
ab
k B
: Tds (17), (14)
ds=c, d—T+R dv ,
T v—-b
T _
s=so+ | I gy V=0 (30)
T, T v,—b
a (v—D>)
' (30) Cy
s=so+cvln1+Rln V= (31)
v,p pT
Tds
=S ds=0 Tds
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— () () ds=0
()
R
T(v-b)" = (32)
() vVp
a R
(p " —zj(v b)e = (33)
v
TV ' =
pv'=
Tds
Tds=0=c¢, dT; + B—Td\/S
K
Td,=— B—T dv,
Kc,
T
¢ k, B
T
(Tz — Tl)s = - B_ (Vl - Vz)s- (34)
Kc,
T,>T, B T,<T, vi>wv,

p
4°c
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. Tds
Tds =0 = ¢,dT; — BvTdps,

ar.= VT 4. (35)
CP
(To=Ty), = BVT (b2 - P, (36)
B c, T v P

Tds =dqr dT =0 Tds

dqr = - BvTdpr,
qr=-PvT (p2—po)r (37)
(37), (36)

. Tds

av) _ ¢, _
—;(apl—lc : . (38)
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( ) Y=¢C / ¢y Ks
Y
Y Cy Cp
dp
dy
() ks
dvs = — K,vdps
vk

(V2 - Vl)s =KV (Pl - p2)

] pdv,
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dv,=— ksvdps,

ws=devsz—stpf pdp. =~V (p2 —p2),  (41)

P 2
(20) . v, kg
.k ks
F=U-TS: F
G
G=U-TS+pV

=F+pV
=H-TS

dF = dU — TdS — SdT;
dG = dU — TdS — SdT + pdV + Vdp.

dW=TdS-dU :
d'W =—dF — SdT, (42)
d'W =—-dG — SdT + pdV + Vdp. (43)
pdV
pdV d'A .
.d'A=d'W —pdV.

()

d'A =—-dG - SdT + Vdp. (44)

()
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d'WT = — dFT,

WT = (F] — F2)T- (45)

()
d'ATyp = — dGT_p’
d'AT’p = (Gl — GZ)T,p~ (46)
pdv

F=U-TS: Cy

\Y

=U, + ncy(T-To) - TS, —nc, In T RT In —
T \Y

(0]

Vy, V), T

FI—F2=nRTin£

\4

p, T

gn _ gm — (un —Ts" + pV") _ (um —Ts" + pvm)
— (um _ ll") + T(Sm + S") —-p (Vm _ V")

(0]

p (VVH _ V") 123 T(SIH _|_ SH)
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F pdV

G F

p-v-T

() () da=0,dw=pdv
df =—sdT — pdv
dg =—sdT + vdp

dh=Tds+ vdp :

du=Tds—pdv :

du Jdu
du=|2 ds+ | g
. (asjv ; (avl Y
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(47)

(48)

4)

(50)

)

(

du

ds

u-—Ts

f:

(48)

g

0*u

0*u

dsov  dvos

h gf

)

(

)

- (
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— | = -] = 51
dp /., aT ), S
9s) _ [9p (52)
ov J; JaT ),
9} _ [(ov (53)
op ), JT ),
9s)_ (9p (54)
v/, aT ),
gUH, g" T
p+ T+dT
] g'H + dgﬂ! d" + dg"
dg"V,
dg =—sdT + vdp
. dp

—s"dT +v"dp=—s""dT + v" dp,
(V"' _ V")dp — (S'N _ S")dT

Z
n_ “23
_s = —,

T

m

S
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d_p _ Ly

dT  T(v"-v")
p—T
(a)
(
(b)
T

: (a)
(b)
)
T
T
pP=To
(dﬂ:23)T . dp
dg"', dg"

. dg" — dglll :

dg =—sdT + vdp = vdp,
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(dmt23)r
v'", v dp
V"dp = V'"(dﬂ:23)T, .

(drtos)r = %dp. (55) :

4.58 : S

(b)
760
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Triple point

e

p+) t . e
0°C 0.0023°C  0.0008°C T

Ty T3

Ty, + dmty;

(dmo3)t T3
T3 + dmys ()
T3

. (dTE13)T

"

(dmy3)r = VL dp (56)

dTE13 > dTE23 v'<v'

b, a
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(b)

0
(d7to3)7
(dn23)sat T
dm = (d7tas)r + (d723)sar (57)
(dn23)sat
dT
dn= (d7'C13)T + (d7t13)sat (58)
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~

(

113

123

T=273°K, v"=1.00 x 10~ m°/kgm,

dmy3)s = ————dT,
( 23) t T(V"'—V")
/
dm3)e = ————dT,
( 13) t T(V'”_V')
) ( ) (dTEB)sat (dn23)sat
) ()
Vogpt—n g= Vogpr D
VH' T(VIH_V") V”' T(VV”_V')
VH' V"’ V'
. + b+ b3
dar=10V) (59)
113
dT

v'=1.09x%107 mz/kgm, l,—23 % 105joules/kgm

_ 273100107 ~1.09x107)
3.3x10°
=0.0075 degree

dT
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. (b)

0.0023°C
v . 0°C

dh=Tds + vdp :

Il
|
A/
Q|
32
S~

()

( j
a\)

Dh =c,dT + {v - T(a—T)J dp. (61)

R B
o), ¢, dJT ),
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pdV

pdV
dC EdC

Q C E

pdV
(C ve.) E p )
. pdV
Xa, Xi Yo, Y Y.dX,, YidX,
. TdX
dC dx, E Y

d'W = pdV + YdX :
G=U-TS+pV:
dG =dU — TdS — SdT + pdV + Vdp :

TdS =dU +d'W =dU + pdV + YdS.
dG =—SdT + Vdp + YdX. ( ):
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B (3] G
dT ), x op Tx 0X )1,
G
(a_ij,X ( )
H=U+pV G
G=H+T (a—Gj (64)
T )
G
(G — Gy)
. Xo, X X
T G
X2 =X X1 =X
G
T
ba
a b G, G
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G =H +T(aG2)
T ) «

.a b

(GIG)_(HIH)+T{(z?j —(i?j } (65)

e d :
.T+AT p G

.T+AT Gl—Gz da

G, -G
(G1 =G )riany = (G1 -G )y + [M} AT :
oT o

fe=(aG2j AT be=(aG1J AT :
dT b oT ox

ab+bc=fe+ed

dT AT
AT
oG
G, -G )| —~| dT
( 1 )(T) (aT )p,X
dJG, (G, -G )}
= dT+ (G, -G )+ | —~—22| dT
(E)T jp,x (1 =Cm [ T |
dT (GI_GZ)(T)
()G )
oT )« \ 0T ) « oT )
A (pdV )
(65)
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_ dA
A—(HI—H)+T(8—ij (66)

A X
(X YA .
. (0A/IT), p, T

. T
- (0A/9p)r
( )
Zn _
Cu ZnJrJr H
Zn+Cu" ——> Zn" + Cu (67)
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eC C

()

. C=nzF :

FZ
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eC=nQ+TC (g—;)p
sl

C JT ),
e=%+T(§_;j. (68) :

(Hi — Hy)
pdV
()
pdV
. (0A/0T),

( )

()
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T(de/dT),

— (0¢/0T),
deVH
A
al
= BA B
dt di (mks
dt dt
d'A = eid/ = NAidB dt dA
H=Ni/l, H
d'a=vIldB, d'A=VIIdB,: I
V=Al=mv
TdS = du + pdv — vHdB.
. B=u,(H+ M)
B M

. vHdB = u,vHdH + pu,vHdM:
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pdv
Tds = du — u,vHdM (69A)
. T H M
M, H, T
u s
f(p, v, T) .fM,H, T)=0
: =0
Tds = du + pdv (69B)
p (69B) (69A)
. UovdM dv  u,vM v, H
\% H
M
) H Cu
K P
- (
eu=(u] <-4 (70)
aT ), aT ),

du) oM oM
(a—Hl‘ oV Ha—Hl ”(a—HU 7h
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Tds = cydT + pvT (G_Mj dH. (72)
aT ),
1°K
dT =0 ( ) dHT
d'qT = TdST = MOVT (a—Mj dHT (73)
T ),
.ds=0 dH,
dr, = VL (a—M) dHy. (74)
Cy aT ),
M CH
Curie's law
m=cH,
T
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pv = RT

(75)

(7))

H/T
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o

at

(b)

p
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300°K

- 10 atm

2V,



300°K

/ latm
(a)
(b)
50atm
300°K
CO2 (b) C02 (a)
0°C
8.9 x p, k,P 1000 atm 1 atm
: 10°Kgm/m’, 8 x 10 *(/m?) ", 5 x 10 °deg
1 atm 0°C Cp — Cy
13.6 x 10° Kgm/m’ k, B
Cp — Cy H 200.6
I atm -2°C
. ¢, =2090 Joules  p =920 Kgm/m’
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500 1b/in’ _
1.657 Btu/1b-deg . 1412 Btu/1b 800°F

67 m;LA\u.Aqa\JdLJMLAm AgeAh‘AS‘Au -
. 1b/in , 300°F

. 1671cm’
. 539 cal/gm
(As) (Au) ;
(AG) (AH)
P—K exp (A+BT]
C+DT
DCB AK
( ) -
H
T
u.c H?
T — 0oV
i 2T,
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3°K

T

.5 x 107 Joule
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cy = 10°T° Joule/deg





